
 



 



 

For the solid manure, the notes indicate solid manure to go on fields H2 & H7. In this situation, both fields have high soil test phosphorus and 
this would not be the best utilization of the manure, but these are the only two field where they can apply solid manure.   

 

 

 



 



 



 



 

In fall 2017 fields H5 & H6 can only receive 5,000 gallons per acre because the farmer will not compromise. The rest of the liquid manure only 
has one field it can go on (H10). Field H10 is a cover crop (usually wheat) but it will be burnt down. So all the manure/nutrients on field H 10 will 
go back to the soil because we are not taking a plant off. We can apply 25,000 G/ac because the nutrients in the lagoon are low, but it will need 
to be a split application. It would be best if the farmer would apply all the liquid manure to the barley crop (especially field H5) because it will be 
taken off as a crop.     


